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const int MAXN=3e5+5,MAXM=5e5+5;
const char s[]="RGB";
struct Edge
int to,next;
edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u/=edge cnt;

int ans|[MAXN|,fa[MAXN|,d[MAXN], cnt ;
bool fib[MAXN];
vector<int> node[MAXN|, leaf;
void dfs(int u,int f
ans{ul=ans|[f|"1;
cntians|u] [ ++;
diul=d/fl+1;
falul=f;
node[d[u]]|.push back(u);
bool flag=false;
int i=head|u];i;i=edge[i].next
int v=edgel[i].to;

==f||dlv ;
flag=true;
dfs(v,u);

I'flag
leaf.push back(u);

void solve
int n=read int(),m=read int();
_rep(i,1,n
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head[i]=0;
d[i]=0;
fib[i|=false;
node(i].clear();

cnt =cnt =0;
leaf.clear();
edge cnt=0;
m- -
int u=read int(),v=read int();
Insert(u,v);
Insert(v,u);

dfs(1,0);
cnt[0]<=n/3||cnt[1]<=n/
int v:leaf
ans|v|=2;

int i=n-1;i;i--
int v:nodeli
fiblv!||cntlans|v] |==n/
cntlians|v]|--;
ans|v|=2;
fib[falv| |=true;

_rep(i,1,n
putchar(slans|i ;
putchar('\n');

int main
int T=read int();
T--
solve();
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#include <bits/stdc++.h>

#define int long long

using namespace std;

const int N=2000006,GG=3,GI=332748118,m0od=998244353;

inline void read(int &X
X = 0;
int w=0;
char ch=0;
lisdigit(ch
w|=ch=="-";
ch=getchar();

isdigit(ch X=(X<<3)+(X<<l)+(ch™48),ch=getchar
w) X = -X;

namespace my f
int qpow(int a,int b,int m=mod
int r=1;
b
b&1) r=r*a%m;
a=a*as%sm, b>>=1;

r;

int pgg[50],pgi[50];

void init
int i=0; 1<=48; i++
pgg ' il=qpow (GG, (mod-1)>>1i);
pgi/i!=qpow(GI, (mod-1)>>1i);

#define ad(x,y) ((x)+(y)>mod?(x)+(y)-mod: (x)+(y))
#define dc(x,y) ((x)-(y)<0?(x)-(y)+mod: (x)-(y))
namespace poly
int wiN!,r[N/;
void NTT(int f[N],int lim,int type
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int i=0; i<lim: i++ i<r|i swap(flil,firli o
int mid=1,pp=1; mid<lim; mid<<=1,++pp
int Wn=(type==17pggl/pp!:pgilpp!);
w[0]=1;
int i=1; i<mid; i++) w/il=w/[i-1]*Wn%mod;
int i=0; i<lim; i+=(mid<<
int j=0; j<mid; ++j

int y=Ffli|mid[j]*w(]j|%mod;
fli|mid|jl=dc(fliljl,y);
flilji=ad(fli|]jl,y);

type==-
int ivv=qpow(lim,mod-2);
int i=0; i<lim; i++) flil=f[i]*ivv%mod;

void init(int n

r(o]=o0;
int i=1; i<n; i++)r[i]=((r[i>>1]>>1)| ((i&1)*(n>> ;
int pw NI ,reviN/|;
void pre
int i=1; i<N;
i++)pw i/=gpow(GG, (mod-1)/(i<< , pw il=qgpow (GG, mod-1-

mod-1)/(i<< g

void vec NTT(vector<int> &a,int n,int o

int i=0; i<n; i++ i<r{il)swap(alil,alrli ;
int i=1; i<n; i<<=
int wn;

0==1)wn=pw il;

wn=pw il;
int j=0; j<n; j+=(i<<
int w=1;
int k=0; k<i; k++

int t=w*ali+j+k]|%mod;
w=w*wn%mod ;

ali+j+k|=(alj+k] -t+mod)%mod;
alj+kl=(alj+k]+t)%mod;

0::-
int INV=qpow(n,mod-2);
int i=0; i<=n; i++)alil=ali]*INV%mod;
int pool NI ;

inline void Inv(int f[N!,int g[N],int n //00, pool 0~2
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int

iv

int

alil*blil%smod*b

vector<int>

int

*iv=pool , ¥a=pool , ¥b=pool ;
int i=0; i<=4*n; i++) iv[il=alil=b[i
=qpow ( f ,mod-2);
len=1, lim=1;
len=1; len<=(n<<l); len<<=
lim=1len<<l;
int i=0; i<=4*1len; i++) alil=b[i
int i=0; i<len; i++) alil=f[il,b
int i=0; i<lim; i++) r[il=((r[i>>
NTT(a,lim,1);
NTT(b,lim,1);
int i=0; i<lim; i++) alil=(2*b[i
i 1%mod+mod)%mod;
NTT(a,lim,-1);
int i=0; i<len; i++) iv[il=alil;
int i=0; i<n; i++) glil=iv[i];

int i=n; i<lim; i++) g[i]=0;

+b.size()-1,lim=1;

lim<<=1;

len=a.size
lim<=1len

init(lim);
a.resize(lim);

vec

NTT(a,lim,1);

b.resize(lim);

vec

vec |

NTT(b,lim,1);
int i=0;
NTT(a,lim,-1);

a.resize(len);

inline void mul(int f[NJ,int g[NJ,int

3-4

// flag:

int

int

NTT
NTT

NTT

a,;

Oo0o0nd0O
len=1,lim=1;

len<=(n<< len=1lim, lim<<=1;
*a=pool , ¥*b=pool ;
int i=0; i<lim; i++) alil=b[i]=0;
int i=0; i<n; i++) al[i]=f[i],b[i]=g[1
int i=0; i<lim; i++) rl[il=((r[i>>1]>>
a,lim,1);
b,lim,1);
int i=0; i<lim; i++) alil=alil*b[i]%mod;
a,lim,-1);
int i1=0; i<2*n; i++) fl[il=alil;

fli C

int i=2*n; i<=1im; i++

vec mul(vector<int> a,vector<int> b

i<lim; i++)alil=alil*b[i]l%mod;

n,bool flag=

’

i&1)?len: ;

// *=, pool

?len: ;

https://wiki.cvbbacm.com/

Printed on 2023/07/28 03:22



2023/07/28 03:22 7/11 oooo
flag int i=n; i<2*n; i++) f[i]=0;
void Mod(int f1[N],int f2[N],int n,int m,int R[N]) /OO0 OO, pool
5~6
//00000000,000 pool DODOODOODOODO
int *a=pool|[5],*b=pool|6],*Q=pool|7/];
int i=0; i<=4*n; i++) alil=b[1i]=0;
int i=0; i<n; i++) alil=fl[n-1-1i];
int i=n-m+l; i<n; i++) a[i]=0; // a=f1_r%(x"~(n-m+1))
int i=0; i<m; i++) bl[il=f2m-1-1i;
int i=n-m+1; i<m; i++) b[i]=0;
Inv(b,b,n-m+1);
mul(a,b,n-m+1);
int i=0; i<=n-m; i++) Q[il=aln-m-1i];
int i=0; i<=4*n; i++) al[il=b[1]=0;
int i=0; i<n; i++) alil=fl[i];
int i=0; i<m; i++) blil=f2[il;
int len=1,lim=1;
len<=n) len=1lim, lim<<=1;
int i=0; i<lim; i++) r[i]=((r[i>>1]>>1)|((i&1)?1len:0));
NTT(b,lim,1);
NTT(Q, lim,1);
int i=0; i<lim; i++) b[il=b[i]1*Q[1i]%mod;
NTT(b,lim,-1);
NTT(Q,lim,-1);
int i=0; i<m-1; i++) R[il=(ali]l-b[i]%mod+mod)%mod;
int i=m-1; i<lim; i++) R[i]=0;
void PowMod(int f[N],int p,int g[N],int n,int h[N // 7p%g, g
OnO,000h
int *res=pool|[8];
int i=0; i<=8*n; i++) res|[il=0;
res[0]=1; // res=1
p
p&l

mul(res,f,n,0); // res*=f
Mod(res,g,2*n,n,res); // res%=g

mul(f,f,n,0); // f=Ff*f
Mod(f,g,2*n,n,f); // f%=g

p>>=1;

int i=0; i<n-1; i++

int i=n;

int n,T,m;
int

1i<=8*n;

i++

hiil=res|i

h[i]=0;

’

a/N|,t[N|,p[N/,FIN|,tmp[N]|,tmpl[N|,tmp2[N|,tmp3[N|,fm/N],fm1[N!,jcIN],inv|N
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vector<int> work(int 1,int r
int mid=1+r>>1;

1==
vector<int> ans ;
ans|0|=1,ans|[1|=mod-p[l];
ans;
poly::vec mul(work(l,mid),work(mid+1,r));
void Input
init();
poly::pre();
read(n);
read(T);
read(m) ;
int i=1; i<=T; i++) read(pl[i]);
fm[0]=1;
jelOl=jc[1]=1;
int i=2; i<=m*T+1; i++

jelil=jcli-1]*i%mod;

inv =inv = g
int i1=2; i<=m*T+1; ++i
inv/il=(mod-mod/i)*inv|[mod%i |%mod;

int i=2; i<=m*T+1; ++1i
inv[il=inv/[il*inv[i-1]%mod;

vector<int> mkbk=work(1,T);
vector<int> fm2 :
fm2 =1;
int i=1; i<=m; i++
fm2=poly::vec mul(fm2,mkbk) ;

int i=0,flag=1; i<=m*T; i++,flag=-flag
tmp3[il=flag*(jc/m*T|*inv|i|%mod*inv [ m*T-1i%mod )%mod;
tmp3[il<0) tmp3[il+=mod;

int 1i=0; i<fm2.size(); i++
fmiil=fm2[i];

Llong long ttmp=qpow(fm ,mod-2);
int i=1; i<=m*T; i++
fml/ i/=(mod-fm i )*ttmp%Smod;

poly::Inv(fm,tmp2,m*T+1);
poly::mul(tmp2,tmp3,m*T+1,1);
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n<=m*T
printf("slld\n",tmp2in]);
exit :

int i=m*T+1; i<=2*m*T; i++) tmp2[i)/=0;
int i=0;i<=m*T;i++
tmp2[i|=tmp2/i+l];

int fIN!/,gIN!,cINJ;
void Sakuya
fl1]=1;
int i=1; i<=m*T; i++) g[m*T-i|/=(mod-fml[i]);
glm*T|=1;
poly: :PowMod(f,n-1,g,m*T+1,C);

int ans=0;
int i=0; i<m*T; i++) ans=(ans+tmp2/i|*c|1i|%mod)%mod;
printf("slLld\n",ans);

#undef int
using namespace my f;
int main

Input();

Sakuyal( );

’

J. Tree
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O0000000000000 $\text{solve}(l+1,r,1)$00 000000 $\max$ 0O O OODOODOOO

00000000 $\text{ST}$ 0000000 $O(nlog n)$[

const int MAXN=5e5+5,MAXM=20;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edgeiv,head|u]};
head|u!=edge cnt;

int p[MAXN];
multiset<int> dp/MAXN];
void dfs(int u,int fa
dplu].insert ;
plul=fa;
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
v==fa ;
dfs(v,u);
dplul.insert(*dp(v].rbegin()+1);

struct ST
int d[MAXN]| MAXM|,1g2 MAXN];
void build(int *a,int n
192 =0;
_rep(i,2,n
192[i]=1g2[i>>1]+1;
_for(i,0,n
dli =alil;
int j=1;(l<<j)<=n;j++
_for(i,0,n+1-(1<<j
diil[jl=max(d[i][j-1],d[i+(1<<(]- j - :

int query(int lef,int rig
int len=rig-lef+1;
max(d[lef![lg2/len||,d/ rig-(1<<lg2[len]|)+1][1g2|len ;

stl,st2;
int mvl1[MAXN|,mv2 MAXN];
int solve(int 1,int r,int pos
l+1==r
mvl[(l]-mv2[r];
pos==
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max (mvl/ l/-st2.query(l+1,r),solve(l+1,r,!pos

min(stl.query(l,r-1)-mv2/r|,solve(l,r-
int main
int n=read _int(),s=read int(),t=read int();
_for(i,1,n

int u=read int(),v=read int();
Insert(u,v);
Insert(v,u);

dfs(s,0);
vector<int> vec;
int pos=t;
pos
vec.push back(pos);
POS=pipos|;

reverse(vec.begin(),vec.end ;
_for(i,0,vec.size
int v=vec|i];
il=vec.size()-
int v2=vec|i+l];
dplv].erase(dp(v].find(*dp[v2].rbegin

_for(i,0,vec.size
mvl[i]=*dp[vec[i]].rbegin()+i;
mv2[i]=*dp[vec[il].rbegin()+vec.size()-i-

stl.build(mvl,vec.size ;
st2.build(mv2,vec.size ’
enter(solve(0,vec.size()-1, C

’
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